M:thin English

Brain Teasers level 3 #2

Which option is needed to complete this pattern ?
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Which letter completes the puzzle ?

\.

@8 448 A@
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What is the missing number in

this number puzzle ?

1717
1 | 36| 4
6 | 6 | 1|79
NIERE%

Which number should replace
the question mark ?

81| 6 16 | 49
36 | 9 7|4
64
?
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M:thin English Brain Teasers level 3 #2

Answer to brain teasers

puzzlel: B
The shaded parts of the 3 squares in each row added together cover

a complete square.

puzzle2: O
Multiply the letter value when the arrow points up and divide

the value when the arrow is down.

puzzle3: 9
66 and 19 make 85.

puzzle 4 : 25
The opposite number pairs in each square are square roots and

base numbers.
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